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In AABC the following relationship holds:
he+hy,+h, <4R+7r
Proposed by George Apostolopoulos-Greece

Solution by Mirsadix Muzefferov-Azerbaijan

28 2§ 2§
ha+hb+hc=7+T+T

On the other hand according to the known formulas for the triangle:

ar,r, br,r, cr Ty
Tp+7T, Ta+T, Ta+T1
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a—b=(rb+rc— bc)+(ra+r,_.— ac)+(ra+rb— ab)=
Te+T1p T+ T, Ta+7, Ta+T1p

21,1 2r,r 2r,r
=2(ra+rb+rc)—( b e L ab)
r,+r, rot+r. rot+r,
=2(rq+rp+r1r.)—(hg+hy+h,) =2(hg+hy,+h,) <2(r,+1r,+71,)
ho+hy+h.<r,+r,+r.=4R+1r (proved)

Equality holds fora = b = c.



